Balancing Practice and Answer Key

1. Sh o+ Clh = ShCly

2. o AgNOy + _ (NHGCrO = ARCO, + _ MHNO,
3.  CH, + 03 CO;+ _ HO

4. _ MNaClDy = __ NaCl + 0

5. Fe + HCl = FeCla +  Ha

b. A+ HSO, = ALSOR 4 H

7.  CHe+ 0, CD;+  HO

8. _ MNalCOy + _ HCl = _ NaCl+ __ H.COy

9. _ CHs ¥+ 0= CO;+ _ HD

0. __ Pb(NOj, + _ HSS > PhS + _ HNO,

1. _ In+ ___ AgNOy = _ In(NOj, + _ Ag

12 KCIO; = KCl+ 0,

13. __ CHp+__ _0s= __ CO;+ __ HO

14, NaBr+ __ Clh=> __ NaCl+ __ Br

15, SBr+ __ (NHJLO; =  SiICOy+ __ NHEBr
16,  _ Mg(OHp+ _ HCl = MgCh + _ HO

17. Ba(OH)z = Ba0 + Ha0




Balancing Practice and Answer Key

1. & Sb+ 3 Ch—=> 2 Shih synthesis

2 LAQNO;, + | (NHYCro, = | AgCro, + L NH(NO, double replacement

3. e+ 4 0.5 3 co+ 2 HO combustion

4. £ NaClO; > 2 NaCl + 3 0, decomposition

5. _J Fe+ & Hol > _[ Fecl, + [ H, single replacement

6 i A+ 3 HS0, > | AS0) + 3_ Hy single replacement

7 2 CHy+ 5 0,5 2 CO+ L HDO combustion

8. |_ MaCOy + L HCl = L MaCl + | H.COy double replacement

g LCsz + 7 0, LCOE + LH;O combustion

10, l_ Ph(NOg); + |_H¢S > | pes+ 2 Hnog double replacement

1 ) o+ A AghO; = L In(NO3), + E_ Ag single replacement

2.2 kao, > ém +3 o, decomposition
combustion

3. 2 CHp+ 13 0,58 co,+ 10 Ho

single replacement
14, c NaBr + | Cl, = 2 wNacl + | Br, gle rep

| ( | 2 double replacement
15, 1 Sl + [ (NHJLO » SICO, + NH,Br

doubl 1 t
16, /_Mg(Dsz + iHm Y ]_Mgmz + 'Z"HzD ouble replacemen

d .
17. | BafOH); = | BaD + |H20 ecomposition
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